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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 1: Last year she earned _______ her brother.

A. twice as much as
B. twice more than
C. twice as many as

D. twice as more as 

Question 2: Little ______ he know how much suffering he has caused.

A. didn’t

B. should

C. won’t


D. does 

Question 3: The politician tried to arouse the crowd, but most of them were ________ to his arguments.

A. closed

B. indifferent

C. careless 


D. dead 

Question 4: 
- Can you take the day off tomorrow?


- Well, I’ll have to get _________ from my boss.


A. permission

B. licence 

C. allowance 


D. permit  

Question 5: I do not believe that this preposterous scheme is _____ of our serious consideration.

A. worthy

B. worth

C. worthwhile


D. worthless  
Question 6: __________ the fifth largest among the nine planets that make up our solar system.

A. The Earth being 
B. The Earth is   
C. That the Earth is 

D. Being the Earth  

Question 7: 
Mike: “I have passed all my examinations !”


Joan: “_________”

A. My dear!

B. Best wishes!

C. Well done!


D. That’s very well! 

Question 8: Very often the chocolate inside is not as exciting as its ________.

A. coat


B. paper

C. cover


D. wrapper 

Question 9: I’ve been ______ advised not to say anything. 

A. seriously

B. greatly

C. strongly


D. significantly  

Question 10: Dr. Evans has _________ a valuable contribution to the life of the school.

A. done 

B. created 

C. caused 


D. made  

Question 11: No matter _______, Mozart was an accomplished composer while still a child.

A. how it seems remarkable 


B. how remarkable it seems

C. it seems remarkable how  


D. how seems it remarkable 
Question 12: You may borrow as many books as you like, provided you show them to ___ is at the desk.

A. whoever

B. who


C. whom 


D. which  

Question 13: It was difficult to guess what her ________ to the news would be.

A. feelings

B. reaction 

C. capital 


D. opinion 

Question 14: ________ some countries have ruined their agriculture, squandering money on uneconomic factories, the Ivory Coast has stuck to what it is good at.

A. After

B. During 

C. When 


D. While 

Question 15: 
Harry:  “May I smoke?”


Kate: “________”

A. What suits you?
B. You are free

C. Accommodate yourself!
D. Go ahead!
Question 16: _________ perhaps the most awe inspiring among the great structures of the world.

A. The Great Wall of China


B. The Great Wall of China is



C. That he Great Wall of China is

D. The Great Wall of China which is 

Question 17: We need ________ information before we can decide.

A. further

B. farther

C. far



D. furthest
Question 18: Sportsmen __________ their political differences on the sports field.

A. take part

B. put aside

C. take place 


D. keep apart  

Question 19: _______ is to forget all about it.

A. At best you can do



B. The best thing you can do 



C. What best you can do 


D. You can do the best 

Question 20: 
Maria: “Can I borrow your umbrella for a day?”


Ann: “___________”


A. With pleasure
B. Ready

C. Welcome


D. Yes, I can
Question 21: ________ long thought to have no bones, small amounts of bone were recently found at the bases of the teeth in some species.

A. Although sharks were


B. Despite sharks being



C. In spite of sharks are



D. Nevertheless, sharks
Question 22: Such a judge _________ retire from his job before the retirement age.

A. as well as

B. may as well

C. so as to


D. as much as
Question 23: 
Sue: “I’ve got a new grammar book.”

 

Robert: “____________”

A. What its price?
B. How many cost?
C. How much was it?

D. How much you paid? 

Question 24: When she __________ her mistake, she apologized.

A. realized

B. realize

C. was realizing 

D. has realized
Question 25: _______ daily promotes physical as well as emotional well-being in people of all ages.

A. Having exercised



B. Those who exercise



C. For exercising



D. Exercising
Question 26: As it was very hot in summer, sales of bottles of water went _______ the roof.

A. through

B. to 


C. above 


D. over  

Question 27: If only he _______ accept some help with the work instead of trying to do it alone!

A. will


B. would

C. may 



D. were  

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is closest in meaning to the underlined part in each of the following questions.

Question 28: He was asked to account for his presence at the scene of crime.

A. complain 

B. exchange

C. explain 


D. arrange  

Question 29: The teacher gave some suggestions on what could come out for the examination.

A. effects

B. symptoms

C. hints 


D. demonstrations  

Question 30: I’ll take the new job whose salary is fantastic.

A. reasonable

B. acceptable

C. pretty high


D. wonderful  

Mark the letter A, B, C, or D on you answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 31: “I was not there at the time,” he said.

A. He denied to have been there at the time.
B. He denied that he had not been there at the time.

C. He denied to be there at the time.

D. He denied having been there at the time.
Question 32: “Let’s go out for a walk now,” he suggested.

A. He suggested going out for a walk then.
B. He suggested to go out for a walk then.


C. He suggested them to go out for a walk then.
D.  He suggested them going out for a walk then.

Question 33: “I am sorry, Jean. I broke your bicycle,” said John.

A. John apologized Jean for breaking her bicycle.


B. John apologized Jean for having broken her bicycle.



C. John apologized to Jean to have broken her bicycle.



D. John apologized to Jean for having broken her bicycle. 

Question 34: “I would like you not to go out with him, Ann” says her mother.

A. Ann’s mother would rather she doesn’t go out with him.



B. Ann’s mother would rather her not to go out with him.



C. Ann’s mother would rather she didn’t go out with him.



D. Ann’s mother would rather she wouldn’t go out with him.  

Question 35: “You broke my glasses,” said the woman to me. 

A. The woman blames me of breaking her glasses. 

B. The woman blamed me of breaking her glasses. 



C. The woman blames me for having broken her glasses. 



D. The woman blamed me for having broken her glasses.  

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 36: 
A. disaster

B. encounter 

C. determine 

D. consonant  
Question 37: 
A. referee

B. agriculture 

C. personality 

D. mathematics  

Question 38: 
A. weather

B. animal 

C. human 

D. canteen  

Question 39: 
A. gallery

B. satellite 

C. different 

D. cathedral  

Question 40: 
A. familiar

B. redundant 

C. customary 

D. reluctant  

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions.
Question 41: It is important that you turned off the heater every morning before you leave for class.
                       A                                           B                                                   C                   D
Question 42: The children had such difficult time when they began school in their new neighbourhood that their
                                                                A                                   B



parents decided never to move again.
                                          C         D  
Question 43: Those who had already purchased tickets were instructed to go to gate first immediately.
                           A                          B                                                                               C             D

Question 44: The lion has long been a symbol of strength, power, and it is very cruel.
                        A                  B            C                                                            D
Question 45: Nobody had known before the presentation that Sue and her sister will receive 

                                             A                    B                                                                    C          



the awards for outstanding scholarships.
 
 
 D
Mark the letter A, B, C, or D on you answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 46: He is very intelligent. He can solve all the problems in no time.

A. So intelligent is he that he can solve all the problems in no time.



B. He is very intelligent that he can solve all the problems in no time.




C. An intelligent student is he that he can solve all the problems in no time.




D. So intelligent a student is he that he can solve all the problems in no time.

Question 47: We cut down many forests. The Earth becomes hot.

A. The more forests we cut down, the hotter the Earth becomes.



B. The more we cut down forests, the hotter the Earth becomes.


C. The more forests we cut down, the Earth becomes hotter.




D. The more we cut down forests, the Earth becomes hotter.

Question 48: You don’t try to work hard. You will fail in the exam.

A. Unless you don’t try to work hard, you will fail in the exam.



B. Unless you try to work hard, you won’t fail in the exam.




C. Unless you try to work hard, you will fail in the exam.





D. Unless do you try to work hard, you will fail in the exam.

Question 49: The coffee was not strong. It didn’t keep us awake.

A. The coffee was very strong, but it couldn’t keep us awake.



B. We were kept awake because the coffee was strong. 



C. The coffee was not strong enough to keep us awake.




D. The coffee was so hot that it didn’t keep us awake.
Question 50: He didn’t take his father’s advice. That’s why he is out of work.

A. If he had taken his father’s advice, he would not have been out of work.



B. If he took his father’s advice, he would not be out of work.




C. If he had taken his father’s advice, he would not be out of work.





D. If he takes his father’s advice, he will not be out of work.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions, from 51 to 60.

Accustomed though we are to speaking of the films made before 1927 as "silent", the film has never been, in the full sense of the word, silent. From the very beginning, music was regarded as an indispensable accompaniment; when the Lumiere films were shown at the first public film exhibition in the United States in February 1896, they were accompanied by piano improvisations on popular tunes. At first, the music played bore no special relationship to the films; an accompaniment of any kind was sufficient. Within a very short time, however, the incongruity of playing lively music to a solemn film became apparent, and film pianists began to take some care in matching their pieces to the mood of the film.


As movie theaters grew in number and importance, a violinist, and perhaps a cellist, would be added to the pianist in certain cases, and in the larger movie theaters small orchestras were formed. For a number of years the selection of music for each film program rested entirely in the hands of the conductor or leader of the orchestra, and very often the principal qualification for holding such a position was not skill or taste so much as the ownership of a large personal library of musical pieces. Since the conductor seldom saw the films until the night before they were to be shown (if, indeed, the conductor was lucky enough to see them then), the musical arrangement was normally improvised in the greatest hurry.


To help meet this difficulty, film distributing companies started the practice of publishing suggestions for musical accompaniments. In 1909, for example, the Edison Company began issuing with their films such indications of mood as "pleasant', "sad", "lively". The suggestions became more explicit, and so emerged the musical cue sheet containing indications of mood, the titles of suitable pieces of music, and precise directions to show where one piece led into the next.


Certain films had music especially composed for them. The most famous of these early special scores was that composed and arranged for D. W. Griffith's film Birth of a Nation, which was released in 1915.

Question 51: The passage mainly discusses music that was​​​​​​​ ____________.

A. performed before the showing of a film 
B. played during silent films 

C. recorded during film exhibitions

D. specifically composed for certain movie theaters

Question 52: What can be inferred that the passage about the majority of films made after 1927?

A. They were truly "silent".


B. They were accompanied by symphonic orchestras.

C. They incorporated the sound of the actors' voices.

D. They corresponded to specific musical compositions.

Question 53: It can be inferred that orchestra conductors who worked in movie theaters needed to ________.



A. be able to play many instruments

B. have pleasant voices


C. be familiar with a wide variety of music
D. be able to compose original music
Question 54: The word "them" in paragraph 2 refers to _________.

A. years
 
B. hands

C. pieces

D. films
Question 55: According to the passage, what kind of business was the Edison Company?


A. It produced electricity.


B. It distributed films.


C. It published musical arrangements.

D. It made musical instruments.

Question 56: It may be inferred from the passage that the first musical cue sheets appeared around _________. 


A. 1896


B. 1909


C. 1915


D. 1927

Question 57: Which of the following notations is most likely to have been included on a musical cue sheet of the early 1900's?


A. "Calm, peaceful"
B. "Piano, violin"
C. "Key of C major"
D. "Directed by D. W. Griffith"

Question 58: The word "composed" in paragraph 4 is closest in meaning to __________.

A. selected

B. combined

C. played

D. created

Question 59: The word "scores" in paragraph 4 most likely mean ____________.

A. totals

B. successes

C. groups of musicians
D. musical compositions
Question 60: The passage probably continues with a discussion of ____________.

A. other films directed by D. W. Griffith 
B. famous composers of the early twentieth century

C. silent films by other directors


D. the music in Birth of a Nation

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks, from 61 to 70.
NEIGHBOURS INFLUENCE BUYING DECISIONS


However objective we believe ourselves to be, most of us do not judge a product solely on its merits, considering quality, value and style before making a decision. (61)________, we are easily influenced by the people around us.

There is nothing (62)___________ with this. It is probably a smarter way to make decisions than (63)________ on only our own opinions. But it does make life hard for companies. They have long understood that groups of friends and relatives tend to buy the same products, but understanding the reasons has been tricky. It is because they are so similar with (64)_______ to how much money they make and what television ads they watch that they independently (65)________ at the same decision? Or do they copy one another, perhaps (66)______ envy or perhaps because they have shared information about the products?

Research in Finland recently found overwhelming evidence that neighbours have a big influence on buying decisions. When one of a person’s ten nearest neighbours bought a car, the chances that that person would buy a car of the same brand during the next week and a half (67)__________ by 86 per cent. The researchers argued that it was not just a (68)_________ of envy. Used cars seemed to attract neighbours even more than new cars. This suggested that people were not trying to (69)_______ up with their neighbours, they were keen to learn from them. Since used cars are less reliable, a recommendation of one can (70)________influence a buying decision. 
Question 61: 
A. What’s more
B. Instead

C. Unlike 

D. In place  

Question 62: 
A. wrong

B. silly


C. bad 


D. daft  
Question 63: 
A. basing

B. trusting

C. supposing 

D. relying  

Question 64: 
A. connection 

B. regard 

C. relation 

D. concern  
Question 65: 
A. reach

B. come 

C. arrive 

D. get  
Question 66: 
A. for


B. as to 

C. out of 

D. about  
Question 67: 
A. boosted

B. rose 

C. enlarged 

D. lifted  

Question 68: 
A. thing

B. point 

C. matter 

D. fact  

Question 69: 
A. keep

B. stay 

C. hold

D. follow  

Question 70: 
A. fiercely

B. strongly 

C. firmly 

D. intensely  

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions, from 71 to 80.

Glass is a remarkable substance made from the simplest raw materials. It can be colored or colorless, monochrome or polychrome, transparent, translucent, or opaque. It is lightweight impermeable to liquids, readily cleaned and reused, durable yet fragile, and often very beautiful Glass can be decorated in multiple ways and its optical properties are exceptional. In all its myriad forms - as table ware, containers, in architecture and design - glass represents a major achievement in the history of technological developments.


Since the Bronze Age about 3,000 B.C., glass has been used for making various kinds of objects. It was first made from a mixture of silica, line and an alkali such as soda or potash, and these remained the basic ingredients of glass until the development of lead glass in the seventeenth century. When heated, the mixture becomes soft and malleable and can be formed by various techniques into a vast array of shapes and sizes. The homogeneous mass thus formed by melting then cools to create glass, but in contrast to most materials formed in this way (metals, for instance), glass lacks the crystalline structure normally associated with solids, and instead retains the random molecular structure of a liquid. In effect, as molten glass cools, it progressively stiffens until rigid, but does so without setting up a network of interlocking crystals customarily associated with that process. This is why glass shatters so easily when dealt a blow. Why glass deteriorates over time, especially when exposed to moisture, and why glassware must be slowly reheated and uniformly cooled after manufacture to release internal stresses induced by uneven cooling.


Another unusual feature of glass is the manner in which its viscosity changes as it turns from a cold substance into a hot, ductile liquid. Unlike metals that flow or "freeze" at specific temperatures glass progressively softens as the temperature rises, going through varying stages of malleability until it flows like a thick syrup. Each stage of malleability allows the glass to be manipulated into various forms, by different techniques, and if suddenly cooled the object retains the shape achieved at that point. Glass is thus amenable to a greater number of heat-forming techniques than most other materials.

Question 71: Why does the author list the characteristics of glass in paragraph 1?


A. To demonstrate how glass evolved

B. To show the versatility of glass


C. To explain glassmaking technology

D. To explain the purpose of each component of glass

Question 72: The word "durable"' in paragraph 1 is closest in meaning to______.

A. lasting

B. delicate

C. heavy


D.  plain

Question 73: What does the author imply about the raw materials used to make glass?


A. They were the same for centuries.

B. They are liquid.



C. They are transparent.


D. They are very heavy.

Question 74: According to the passage, how is glass that has cooled and become rigid different from most other rigid substances?

A. It has an interlocking crystal network.
B. It has an unusually low melting temperature.

C. It has varying physical properties.

D. It has a random molecular structure.

Question 75: The word "customarily" in paragraph 2 could best be replaced by “______”.

A. naturally

B. necessarily

C. usually


D. certainly

Question 76: The words "exposed to" in paragraph 2 most likely mean ______.

A. hardened by
B. chilled with

C. subjected to

D. deprived of

Question 77: What must be done to release the internal stresses that build up in glass products during manufacture?

A. The glass must be reheated and evenly cooled. B. The glass must be cooled quickly.



C. The glass must be kept moist until cooled.
 D. The glass must be shaped to its desired form immediately

Question 78: The word "induced" in paragraph 2 is closest in meaning to_______.

A. joined

B. missed

C. caused


D.  lost
Question 79: The word "it" in paragraph 3 refers to________.

A. feature

B. glass


C. manner


D. viscosity

Question 80: According to the passage, why can glass be more easily shaped into specific forms than can metals

A. It resists breaking when heated

B. It has better optical properties.

C. It retains heat while its viscosity changes.
D. It gradually becomes softer as its temperature rises.

---------- THE END ----------
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Pick out the word whose stress is placed differently.

Question 1:  A. economics
   
B. inspection         
C. regulation
        
D. individual

Question 2:  A. absolute

B. distortion
  
C. responsible
 
D. familiar

Question 3:  A. colony
 
B. assistant
  
C. possible

D. holiday

Question 4:  A. vacancy      
   
B. calculate      
C. delicious     
D. furniture

Question 5:  A.  sincerely
  
B. completely
  
C. extremely

D. faithfully


Choose the best answer that best completes each sentence. If where there is an underlined word, choose the expression corresponding to it. 

Question  6: ................ non-verbal language is ................important aspect of interpersonal communication.

A. Ø / an

        
B. A / the

C. The / Ø

  
D. The / a
Question 7: His brother refuses to even listen to anyone else's point of view. He is very..................... 
 A. open – minded

B. kind – hearted
C. narrow- minded

D. absent - minded

Question  8: What chemical is this? It's ........................... a horrible smell.

A. giving over


B. giving off

C. giving down

D. giving up

Question  9: Learning English isn't so difficult once you.........................
A. get down to it

B. get off it

C. get on it


D. get down with it

Question 10: To cheer someone up is to ......................................

A. criticize her/ him




B. make her / him feel happier

C. sit with her / him




D. agree with her / him

Question 11: On ....................... he had won, he jumped for joy.

A. he was told


B. having told

C. telling 


D. being told

Question 12: In a few hours, we....................... the test, and we’ll go home and rest.

A. are finishing

B. have finished
C. will have finished

D. will be finishing

Question 13: I thought you said she was going away the next Sunday,........................ ?

A. wasn't she


B. didn't you

C. didn't I


D. wasn't it

Question 14: Tom. "I'm sorry. I won't be able to come". - Mary. “..........................”.

A. Great


B. Oh, that's annoying

C. Well, never mind
D. Sounds like fun

Question 15: Nowadays children would prefer history ...................in more practical ways.

A. to be taught
  
        
B. teach

C. be taught


D. to teach

Question 16: I think you are .......... your time looking for a job in this town. There’s not much to do here.

A. losing                             
B. spending      
C. wasting                    
D. missing

Question 17: Jane. “It's going to rain”.              Mary. “..........................”.

A. I hope not so

B. I don't hope either
C. I don't hope so

D. I hope not

Question 18: A good friend is .................will stand by you when you are in trouble.

A. the one who

B. a person that
C. people who


D. who

Question 19: On hearing the news she fainted and it was half an hour before she came................. again.

A. up 



B. round

C. over



D. forward

Question 20: He went to a seaside resort because he was ................on water- skiing.

A. keen

       
B. enthusiastic
          
C. interested

  
D. impassioned

Question 21: Deborah is going to take extra lessons to .......................what she missed while she was away.

A. take up with

B. cut down on
C. put up with


D. catch up on

Question 22: Jane: Thank you for a lovely evening.
        Barbara: ..........................................................

A. You are welcome

B. Have a good day

C. Thanks

D. Cheer!

Question 23: She was ..........................she could not say anything.

A. such surprised at the news that


B. so surprised at the news that

C. so surprised of the news that


D. so that surprised for the news

Question 24: It’s essential that every student.......................the exam before attending the course.

A. pass



B. passes

C. would pass


D. passed

Question 25: I decided to go to the library as soon as I ....................................

A. finish what I did




B. would finish what I did

C. finished what I did




D. finished what I was doing

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 26: Almost all the students were confusing because Ms. Kelly’s explanation was unclear.

 

  A
    B
   

 C





     D

Question 27: The purpose of traveller’s cheque is to protect travelers from theft and accident loss of money.




A


       B


       C

  D

Question 28: A secretary told me an important file had left in the lunch room just the other day.

 

    
      A

 

    B
   

     C
     D

Question 29: Approximately one-fifth of a worker’s income to pay in taxes and social security. 

 

 

    A
      B


    C

   D



Question 30: With the victory over Germany in the final match, Brazil became the first team won 





   A


      B




        C

the trophy five times.



D
   



      

       



Read the passages  below and then answer the following questions that follow.

Passage 1

     Rachel Carson was born in 1907 in Springsdale, Pennsylvania. She studied biology in college and zoology at Johns Hopkins University, where she received her master’s degree in 1933. In 1936, she was hired by the US Fish and Wildlife Service, where she worked most of her life.

     Carson’s first book, Under the Sea Wind, was published in 1941. It received excellent reviews, but sales were poor until it was reissued in 1952. In that year, she published The Sea Around Us, which provided a fascinating look beneath the ocean’s surface, emphasizing human history as well as geology and marine biology. Her imagery and language had a poetic quality. Carson consulted no less than 1,000 printed sources. She had voluminous correspondence and frequent discussions with experts in the field. However, she always realized the limitations of her non-technical readers.

    In 1962, Carson published Silence Spring, a book that sparked considerable controversy. It proved how much harm was done by the uncontrolled, reckless use of insecticides. She detailed how they poison the food supply of animals, kill birds, and contaminate human food. At that time, spokesmen for the chemical industry mounted personal attacks against Carson and issued propaganda to indicate that her findings were flawed. However, her work was vindicated by a 1963 report of the President’s Science Advisory Committee.

Question 31:  The passage mainly discusses Rachel Carson’s work

A. at college
B. at the US Fish and Wildlife Service

C. as a researcher
D. as a writer

Question 32:  According to the passage, what did Carson primarily study at Johns Hopkins University?

A. Zoology                      B. Literature                         C. History                         D. Oceanography

Question 33:  When she published her first book, Carson was closest to the age of

A. 29                               B. 26                                     C. 34                                 D. 45

Question 34:  It can be inferred from the passage that in 1952, Carson’s book Under the Sea Wind
A. became more popular than her other books
B. was outdated

C. was praised by critics
D. sold many copies

Question 35:  Which of the following was not mentioned in the passage as a source of information for The Sea Around Us

A. Printed matter
B. Talks with experts
C. Letters from scientists
D. A research expedition

Question 36:  Which of the following words or phrases is least accurate in describing The Sea Around Us?

A. Poetic                         
B. Fascinating
C. Highly technical
D. Well researched

Question 37:  The word “reckless” is closest in meaning to

A. irresponsible               
B. unnecessary
C. continuous
D. limited

Question 38:  According to the passage, Silent Spring is primarily 

A. a discussion of hazards insects pose to the food supply

B. an illustration of the benefits of the chemical industry

C. a warning about the dangers of misusing insecticides

D. an attack on the use of chemical preservatives in food

Question 39:  Which of the following is closest in meaning to the word “flawed”?

A. Offensive                    B. Logical
C. Deceptive
D. Faulty

Question 40:  Why does the author of the passage mention the report of the President’s Science Advisory Committee?

A. To validate the chemical industry’s claims

B. To indicate a growing government concern with the environment

C. To support Carson’s ideas

D. To provide an example of government propaganda

Passage 2

After two decades of growing student enrollments and economic prosperity, business schools in the United States have started to face harder times. Only Harvard's MBA School has shown a substantial increase in enrollment in recent years. Both Princeton and Stanford have seen decreases in their enrollments. Since 1990, the number of people receiving Masters in Business Administration (MBA) degrees, has dropped about 3 percent to 75,000, and the trend of lower enrollment rates is expected to continue.

There are two factors causing this decrease in students seeking an MBA degree. The first one is that many graduates of four-year colleges are finding that an MBA degree does not guarantee a plush job on Wall Street, or in other financial districts of major American cities. Many of the entry-level management jobs are going to students graduating with Master of Arts degrees in English and the humanities as well as those holding MBA degrees. Students have asked the question, "Is an MBA degree really what I need to be best prepared for getting a good job?" The second major factor has been the cutting of American payrolls and the lower number of entry-level jobs being offered. Business needs are changing, and MBA schools are struggling to meet the new demands.

Question 41: What is the main focus of this passage?
 
A. Jobs on Wall Street  


B. Types of graduate degrees  

            C. Changes in enrollment for MBA schools   D. How schools are changing to reflect the economy

Question 42: The phrase "two decades" refers to a period of _______.

 
A. 10 years

B. 20 years 

C. 50 years 


D. 100 years

Question 43: The word "prosperity" could be best replaced by which of the following?

 
A. success 

B.  surplus

C. nurturing


D.  education

Question 44: Which of the following business schools has NOT shown a decrease in enrollment?

 
A. Princeton  

B.  Harvard  

C. Stanford  


D.  Yale

Question 45: The phrase "trend of" in the passage is closest in meaning to which of the following?

 
A. reluctance of   



B. drawback to  


C. movement toward  



D. extraction from

Question 46: The word "seeking" as used in the passage could best be replaced by ________.

 
A. examining   
B. avoiding

C. seizing


D. pursuing

Question 47: Which of the following descriptions most likely applies to Wall Street?

 
 A. a center for international affairs


B. a major financial center


 
 C. a shopping district 



D. a neighborhood in New York

Question 48: According to the passage, what are two causes of declining business school enrollments?

 
A. lack of necessity for an MBA and an economic recession


 
B. low salary and foreign competition



 
C. fewer MBA schools and fewer entry-level jobs   

 
D. declining population and economic prosperity

Question 49: The word "cutting" in the passage could best be replaced by which of the following?

 
A. wounding

B. reducing


C. dividing

D. carving

Question 50: The word "struggling" as used in the last sentence is closest in meaning to _______.

 
A. evolving

B. plunging


C. starting

D. striving

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks from 51  to 60.

Throughout history, women have had responsibility for healing (51) _____. However, it is only in comparative recent times (52) ____ they have been allowed to train as doctors at medical schools in Britain. Yet in that short time, they have (53) _____ an enormous contribution to modern medicine.

The first female doctors were nuns (54) _____ gave advice about diseases and (55) _____ and prepared medicines. In ancient Rome, women healers (56) ____ skilful and respected. In Britain, (57)____ centuries, male doctors were suspicious of women who practised medicine (58) ____ and in 1512 a law was passed making it (59) ____ for them to do so. Women couldn’t study medicine at universities (60)____ the 19th century and they only began to gain equality with male doctors in the 20th century.

Question 51:
A.  people 

B.  patient 

C.  the sick 

D.  diseases

Question 52:
A.  that  

B.  when

C.  which

D.  and

Question 53:
A.  caused

B.  done

C.  had


D.  made


Question 54:
A.  they

B.  who

C.  whose

D.  which

Question 55:
A.  injured

B.  painful

C.  injuries

D.  wounded

Question 56:
A.  were considered



B.  have considered


C.  had considered



D.  were regarded

Question 57:
A.  in


B.  with

C.  on


D.  for

Question 58:
A.  profession

B.  professional
C.  professionally
D. unprofessional

Question 59:
A.  legal

B.  illegal

C.  legally

D.  legality

Question 60:
A.  until 

B.  in


C.  from

D.  since

Mark the letter A, B, C, or D on your answer sheet to choose the sentence which is closest in meaning to the given one. 
Question 61: Friendly though he may seem, he's not to be trusted.

A. He's too friendly to be trusted.

B. However he seems friendly, he's not to be trusted.

C. He may have friends, but he's not to be trusted.

D. However friendly he seems, he's not to be trusted.
Question 62: You should have persuaded him to change his mind.

A. It was essential to persuade him to change his mind but you didn’t.
B. You didn't persuade him to change because of his mind.

C. You should persuade him to change his mind.

D. You persuaded him to change his mind but he didn't listen.

Question 63: When the unemployment rate is high, the crime rate is usually also high.

A. The unemployment rate and the crime rate are both higher.

B. The higher the unemployment rate is, the higher the crime rate is.

C. The unemployment rate is as high as the crime rate.

D. The high rate of unemployment depends on the high rate of crime.

Question 64: I wish you hadn't said that.

A. I wish you not to say that.
B. If only you didn't say that.

C. I hope you will not say that.
D. It would be nice if you hadn't said that.

Question 65: “You're always making terrible mistakes”, said the teacher.

A. The teacher asked his students why they always made terrible mistakes.

B. The teacher realized that his students always made terrible mistakes.

C. The teacher complained about his students making terrible mistakes.

D. The teacher made his students not always make terrible mistakes.

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that expresses the best meaning formed by the given words
Question 66:. No/ doubt/ Alison/ promote

A. It’s no doubt Alison will be promoting.
B. There’s no doubt that Alison will be promoted.

C. There’s no doubt Alison will promote.
D. It’s no doubt that Alison is promoted.

Question 67: your organization/ possible/ conference/ place
A. Your organization made it possible to take place this conference.

B. Your organization made possible for this conference to take place.

C. Your organization made it possible this conference to take place.

D. Your organization made it possible for this conference to take place.

Question 68: when/ you/ make/ mind/ university/ attend?

A. When are you going to make up your mind about which university to attend?

B. When will you make up your mind which university to attend?

C. When are you going to make your mind about which university to attend?

D. When are you making up your mind about university to attend?    

Question 69: I/ not see/ point/ rule/ we/ not/ cycle/ school    

A. I can’t see the point of this rule which we don’t cycle to school.

B. I can’t see the point of this rule which says we can’t cycle to school. 

C. I don’t see the point of this rule which we are not allowed to cycle to school.

D. I can’t see the point of rule which says we can’t cycle to school. 

Question 70: despite / short day / we / complain / much / do

A. Despite such a short day, we tend to complain about having too much to do.

B. Despite such a short day, we tend to complain having too much to do.

C. Despite a short day, we tend to complain about too much to do.

D. Despite such short day, we tend to complain about having too much to do.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 71  to 80.

      Face-to-face conversation is two-way process: You speak to me, I reply to you and so on. Two-way (71)______depends on having a coding system that is understood by both (72)______ and receiver, and an agreed convention about (73)______ the beginning and end of the (74) ______. In speech, the coding system is the language like English or Spanish; the convention that one person speaks at a time may seem too obvious to (75)______. In fact, the (76)______ that people use in conversations and meetings are often non-verbal. For example, lowering the pitch of the voice may mean the end of a sentence; a sharp intake of breath may signal the desire to (77)______, catching the chairman’s (78)______may indicate the desire to speak in a formal setting like a (79)______, a clenched fist may indicate anger. When these (80)______ signals are not possible, more formal signals may be needed.

Question 71: A. interchange
B. exchange
C. correspondence
D. communication
Question 72: A. announcer
B. transmitter
C. messenger
D. sender
Question 73: A. signing
B. symbolizing
C. signaling
D. showing
Question 74: A. message
B. topic
C. idea
D. theme
Question 75: A. judge
B. mention
C. recognize
D. notice
Question 76: A. signals
B. symptoms
C. symbols
D. signs
Question 77: A. interchange
B. interfere
C. interrupt
D. intercept
Question 78: A. elbow
B. eye
C. shoulder
D. hand
Question 79: A. chat
B. debate
C. broadcast
D. lecture
Question 80: A. visual
B. auditory
C. verbal
D. sensory
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Mark the letter A, B, C, or D on you answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1: A. innocent
B. nevertheless
C. contents
D. supermarket
Question 2: A. argument
B. enquiry
C. medicine
D. justify
Question 3: A. convenience
B. mechanic
C. preference
D. official
Question 4: A. recently
B. attitude
C. octopus
D. proposal
Question 5: A. economy
B. advisory
C. peninsula
D. economics

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 6:  My friend has _________ for a bargain.

A. a sharp ear
B. a strong head
C. a keen eye
D. a keen ear
Question 7:  The Southeast Asian Games___________its origin to the Southeast Asian Peninsular Games.

A. has
B. owes
C. returns
D. dates back
Question 8:  It is not until December 25 _________the exam results will be announced.

A. which
B. what
C. that
D. when
Question 9:  ________that he felt that he didn’t have to revise any more.

A. So confident in passing was that arrogant student
B. Such confidence in passing did that arrogant student have
C. So confident was that arrogant student of passing
D. Such was the confidence of that arrogant student on passing
Question 10:  The whole building collapsed, but fortunately there were no_________

A. victims
B. wounded
C. hurt
D. casualties
Question 11:  A. “I would like to invite you to our wedding anniversary this Saturday morning.”

  

B. “__________”

A. Thank you for your request, but I’m sorry I can’t really come.
B. I would love to come but I have prior commitments. I’m sorry.
C. I am sorry. Can you come to my place?
D. How about going to the cinema?
Question 12:  Owing to the fog, his flight from Karachi was_________

A. belated
B. overdue
C. unscheduled
D. unpunctual
Question 13:  He was given a medal in_________of his service to the country.

A. gratitude
B. recognition
C. knowledge
D. response
Question 14:  She ________till the early hours listening to pop music.

A. took me up
B. kept me up
C. caught me up
D. held me up
Question 15:  I _________happy to see him, but I didn’t have time.

A. would have been
B. will be
C. would be
D. will have been
Question 16:  A. “Where is my bag?”

 B “__________”

A. Here are you
B. There is it
C. Here you are
D. There it is
Question 17:  I am reading this novel. By the time you come back from work, I_________

A. shall finish
B. shall have finished
C. will finish
D. have finished
Question 18:  ________to Jim myself, I can’t really tell you why he would say such terrible things.

A. Not to be speaking
B. Because of not speaking
C. Not to have spoken
D. Not having spoken
Question 19:  We hire our bicycle _________

A. by the hour
B. by hours
C. by an hour
D. for hours
Question 20:  Please don’t __________yourself out. A sandwich will do.

A. let
B. put
C. leave
D. take
Question 21:  A. “If only I hadn’t said that to her”.

 
            B. “_________________”
A. Ah, well, that is life.
B. Yes, you mustn’t have done like that
C. No worry, that’s nothing .
D. No, you’ve done a very good job
Question 22:   A. “I apologize to you for not keeping my promise”

 B. “ __________”

A. Well, that’s out of question.
B. Your apology is accepted.
C. I am grateful to that.
D. That was very sweet of you.
Question 23:  A. “How come you didn’t tell me that you would quit the job?”

  
            B. “__________”.

A. Because I knew you would make a fuss about it.
B. I would love to. Thank you.
C. I found the job so demanding.



D. Because I’m so bored with it.
Question 24:  Stop fighting you two- shake hands and ________your peace with each other!

A. set
B. do
C. make
D. bring
Question 25:  Fire crews have been operating at full________.

A. effort
B. power
C. strength
D. energy
Question 26:  It was suggested that they_________the distance in very short time.

A. would cover
B. covered
C. had cover
D. cover
Question 27:  I am writing with_________to our telephone conversation yesterday.

A. accordance
B. reference
C. similarity
D. speaking
Question 28:  He kept his marriage for years, but eventually the truth ________

A. came out
B. went out
C. came through
D. fell out
Question 29:  Getting a good school _________is what you need to do.

A. report
B. mark
C. raise
D. comment
Question 30:  My decision to leave university after a year is one I now_________regret.

A. harshly
B. painfully
C. keenly
D. heavily

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.

Question 31:  She had a cozy little apartment in Boston.

A. uncomfortable
B. dirty
C. lazy
D. warm
Question 32:  A frightening number of illiterate students are graduating from college.

A. able to read and write

B. able to join intramural sport
C. inflexible



D. unable to pass an examination in reading and writing

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word(s) for each of the following blanks. 

BOOKS BEFORE SCHOOL?

        Many people believe that they should begin to teach their children to read when they are scarcely more than toddlers. This is fine if the child shows a real interest but forcing a child could be (33)________ if she isn’t ready. Wise parents will have a (34)________attitude and take the lead from their child. What they should provide is a selection of (35)________ books and other activities. Nowadays, there is plenty good (36)________available for young children, and of course, seeing plenty of books in use about the house will also encourage them to read. 

        Of course, books are no longer the only source of stories and information. There is also a huge range of videos, which can (37)________and extend the pleasure a child finds in a book and are equally valuable in helping to increase vocabulary and concentration. Television gets a bad (38)________ as far as children are concerned, mainly because too many spend too much time watching programs not intended for their age group. Too many television programs attract an incurious, uncritical attitude that is going to make learning more difficult. However, (39)________viewing of programs designed for young children can be useful. Just as adults enjoy reading a book after seeing it (40)________on television, so children will pounce on books which (41)________ their favorite television characters , and videos can add a new (42)________to a story known from a book.

Question 33: A. unuseful             B. unproductive
C. useful
                  D. counter-productive
Question 34: A. cheerful
B. contented
C. relaxed
D. hopeful
Question 35: A. bright
B. thrilling
C. energetic
D. stimulating
Question 36: A. material
B. sense
C. produce
D. amusement
Question 37: A. uphold
B. found
C. assist
D. reinforce
Question 38: A. review
B. press
C. criticism
D. result
Question 39: A. cautious
B. choice
C. discriminating
D. approved
Question 40: A. serialized
B. revised
C. transferred
D. visualized
Question 41: A. illustrate
B. extend
C. possess
D. feature
Question 42: A. revival
B. dimension
C. option
D. existence

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions.

Question 43:  It was boiling yesterday. We have a very humid and dry summer this year.

A. very hot
B. cooking
C. dry
D. cooked
Question 44:  It was inevitable that the smaller company should merge with the larger one.

A. vital
B. unnecessary
C. urgent
D. unavoidable
Question 45:  He made one last futile effort to convince her and left home.

A. favorable
B. difficult
C. ineffectual
D. firm

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.         

Leonardo da Vinci was born on April 15, 1452, in the small Tuscan town of Vinci, near Florence. He was the son of a wealthy Florentine public official and a peasant woman. In the mid-1460s, the family settled in Florence, where Leonardo was given the best education that Florence could offer. He rapidly advanced socially and intellectually. He was handsome, persuasive in conversation, and a fine musician and improviser. About in 1466 he apprenticed as a studio boy to Andrea Del Verrocchio. In Verrocchio’s workshop, Leonardo was introduced to many activities, from the painting of altarpieces and panel pictures to the creation of large sculptural projects. In 1472, he was entered in the painter’s guild of Florence, and in 1476, he was still mentioned as Verrocchio’s assistant. In Verrocchio’s Baptism of Christ, the kneeling angel at the left of the painting is by Leonardo. 

In 1478, Leonardo became an independent master. His first commission, to paint an altarpiece for the chapel of the Palazzo Vecchino, the Florentine town hall, was never executed. His first large painting, The Adoration of the Magi, left unfinished, was ordered in 1481 for the Monastery of San Donato a Scopeto, Florence. Other works ascribed to his youth are the so-called Benois Madonna, the portrait Ginerva de’ Benci, and the unfinished Saint Jerome. 

        In 1482, Leonardos career moved into high gear when he entered the service of the duke of Milan, Ludovico Sforza, having written the duke an astonishing letter in which he stated that he could build portable bridges; that he knew the techniques of constructing bombardments and of making cannons; that he could build ships as well as armored vehicles, catapults, and other war machines; and that he could execute sculpture in marble, bronze, and clay. He served as a principal engineer in the duke’s numerous military enterprises and was so active also as an architect. In addition, he assisted the Italian mathematician Luca Pacioli in the celebrated work Divina Proportione.

        Evidence indicates that Leonardo had apprentices and pupils in Milan, for whom he probably wrote the various texts later compiled as Treatise on Painting. The most important of his own paintings during the early Milan period was The Virgin of the Rocks, two versions of which exist; he worked on the compositions for a long time, as was his custom, seemingly unwilling to finish what he had begun.
        From 1495 to 1496, Leonardo labored on his masterpiece, The Last Super, a mural in the refectory of the Monastery of Santa Maria Delle Grazie, Milan. Unfortunately, his experimental use of oil on dry plaster was technically unsound, and by 1500 its deterioration had begun. Since 1726 attempts have been made, unsuccessfully, to restore it; a concerted restoration and conservation program, making use of the latest technology, was begun in 1977 and is reversing some of the damage. Although much of the original surface is gone, the majesty of the composition and the penetrating characterization of the figures give a fleeting vision of its vanished splendor. 

        During his long stay in Milan, Leonardo also produced other paintings and drawings, most of which have been lost, theater designs, architectural drawings, and models for the dome of Milan Cathedral. His largest commission was for a colossal bronze monument to Francesco Sforza, father of Ludovico, in the courtyard of Castello Sforzesco. In December 1499, however, the Sforza family was driven from Milan by French forces; Leonardo left the statue unfinished and he returned to Florence in 1500.

Question 46:  What is NOT mentioned about the young Leonardo da Vinci?

A. He was physically attractive.

B. He was a talented speaker

C. He was well-connected


D. He was gifted in many fields of art.

Question 47: The word “apprenticed” in paragraph 1 is closest in meaning to_______

A. cleaned

B. painted

C. studied

D. mastered

Question 48: What can be inferred about Andrea Del Verrocchio?

A. He was a writer



B. He was well-known

C. He was poor



D. He had many students

Question 49:  How old was Leonardo da Vinci when he became an independent master?

A. 23


B. 25


C. 26


D. 28

Question 50: The pronoun “he” in paragraph 3 refers to_______

A. Leonardo da Vinci
 B. The duke

C. Sforza

D. Milan

Question 51: What is NOT mentioned as a work by a young Leonardo da Vinci?

A. The Adoration of the Magi


B. Ginerva de’ Benci

C. Donato a Scopeto



D. Saint Jerome

Question 52: The word “catapults” in paragraph 3 is probably_______

A. an animal




B. a method of transportation


C. a food




D. an arm

Question 53: Which of the following sentences best paraphrases the information in the passage?

“He worked on the compositions for a long time, as was his custom, seemingly unwilling to finish what he had begun.”

A. Leonardo felt the need to work on his works for as long a time as was needed to achieve perfection.

B. For some reasons, Leonardo da Vinci took an extraordinarily long time to finish many creations.

C. Leonardo kept working until everything seemed perfect.

D. Leonardo would start many projects at the same time, but they would never finish together.

Question 54:  The word “concerted” in paragraph 5 is closest in meaning to_______

A. musical

B. artistic

C. organized

D. painful

Question 55: What is NOT mentioned as a creation of Leonardo da Vinci’s while he was in Milan?

A. theatre designs



B. architectural drawings

C. models of bronze horses


D. models for church domes
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions.

Question 56:  All Vietnamese special schools are funded by money from government and/or

A

  
              B 


        C
  

 charity organizations.     

                 D

Question 57:  Establishing in 1984 for students who wanted to study art and music subjects, LaGuardia

       A

  
      B

 was the first public school of its kind.
    C


             D

Question 58:  Everyone needs special care and attention so that he or she will grow up into a 

        A
                B


                 C

             D

responsible human being.       

Question 59:  Some of the people were standing in the street watched the parade, while others were

             
A

          B

         C


              D

singing songs.  

Question 60:  The streets are crowded with a population who has no interest in learning.



      
         A

       B

           C                  D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence.

Question 61:  “If you practice more, you might be able to make a career out of music”. Her teacher said.

A. Her teacher said that if she practiced more, she might be able to make a career out of music.
B. Her teacher said that if she practiced more, she might have been able to make a career out of music.
C. Her teacher said that if she had practiced more, she might be able to make a career out of music.
D. Her teacher said that if she had practiced more, she might have been able to make a career out of music.
Question 62: The purpose of any invention is to make our lives better, so good or bad, it depends on the way by which we use these inventions.

A. Whether an invention is good or bad depends on the way by which we use it because the purpose of any invention is to make our lives better.
B. We can use either good or bad inventions to make our lives better.
C. The purpose of any invention, whether good or bad, is to make our lives better. This depends on the way by which we use these inventions.
D. Good or bad as they are, all inventions have the same purpose to make our lives better.
Question 63: California attracted people from many countries when gold was discovered in 1848.

A. Discovered in 1848, gold was attractive to people in California.
B. Discovered in California in 1848, gold attracted people from many countries there.
C. Gold in California was discovered in 1848 after many people came here.
D. When people are attracted to California, they discovered gold in 1848.
Question 64:  The number of people who understand his ideas exceeds his expectations.

A. Fewer people understand him that he expects.
B. Not as many people understand him as he expects.
C. More people understand him than he expects.
D. He expects that more people understand him.
Question 65:  Fred had only himself to blame for losing his driving license for repeated speeding.

A. It’s a pity for Fred to lose his driving license for repeated speeding.
B. It serves Fred right that he lost his driving license for repeated speeding.
C. Fred’s loss of his driving license was not his fault at all.
D. I feel regrets for Fred’s losing his driving license
Question 66:  It is unlikely that the results of the elections will be made public before tomorrow morning.

A. Tomorrow morning is probably the earliest that anyone will know the results of the elections.
B. Before tomorrow morning we will probably know the results of the elections.
C. The results of the elections will most likely be made known before tomorrow morning.
D. We will probably not be told the results of the elections tomorrow morning.
Question 67:  Tom went on and on apologizing for it, which was quite unnecessary.

A. Tom can’t have apologized. I quite understand.
B. Tom shouldn’t have apologized. I quite understand.
C. Tom wouldn’t have apologized. I quite understand.
D. Tom needn’t have apologized. I quite understand.
Question 68:  You must make allowances for his inexperience.

A. He was not allowed to go because of his inexperience.
B. Although he was inexperienced, we must let him in.
C. You shouldn’t pay attention to his inexperience.
D. You should take his inexperience into account.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is best-built from the prompts given.

Question 69:  He/ problems/not/concentrate/office work

A. He has so much problems that he cannot concentrate on his office work.
B. He has such many problems that he cannot concentrate on his office work.
C. He has too many problems so that he cannot concentrate on his office work.
D. He has such a lot of problems that he cannot concentrate on his office work.
Question 70:  All/ people/earth/know/without/ ozone layer, not only/ human beings/ but also/all/plants and animals/ expose/ dangerous rays/sun

A. All of people on earth know that without the ozone layer, not only human beings but also all plants and animals are exposed by dangerous rays from the sun.


B. All people on earth know that without the ozone layer, not only human beings but also all plants and animals would be exposed to dangerous rays from the sun.
C. All of people on earth know that without the ozone layer, not only human beings but also all plants and animals would expose to dangerous rays of the sun.


D. All people on the earth know that without the ozone layer, not only human beings but also all plants and animals would expose to dangerous rays of the sun.
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions. 

It is said that George Washington was one of the first to realize how important the building of canals would be to the nation’s development. In fact, before he became the President, he headed the first company in the United States to build a canal, which was to connect the Ohio and Potomac rivers. It was never completed, but it showed the nation the feasibility of canals. As the country expanded westward, settlers in western New York, Pennsylvania, and Ohio needed a means to ship goods. Canals linking natural waterways seemed to supply an effective method.

In 1791, engineers commissioned by the state of New York investigated the possibility of a canal between Albany on the Hudson River and Buffalo on Lake Eric to link the Great Lakes area with the Atlantic seacoast. It would avoid the mountains that served as a barrier to canals from the Delaware and Potomac rivers.

The first attempt to dig the canal, to be called the Eric Canal, was made by private companies but only a comparatively small portion was built before the project was halted for lack of funds. The cost of the prospect was an estimated $5 million, an enormous amount for those days. There was some on-again-off-again federal funding, but this time the War of 1812 put an end to construction. In 1817, DeWitt Clinton was elected Governor of New York and persuaded the state to finance and build the canal. It was completed in 1825, costing $2 million more than expected. 

The canal rapidly lived up to its sponsors’ faith, quickly paying for itself through tolls. It was far more economical than any other form of transportation at the time. It permitted trade between the Great Lake region and the East coast, robbing the Mississippi River of much of its traffic. It allowed New York to supplant Boston, Philadelphia, and other eastern cities as the chief center of both domestic and foreign commerce. Cities sprang up along the canal. It also contributed in a number of ways to the North’s victory over the South in the Civil War.

An expansion of the canal was planned in 1849. Increased traffic would undoubtedly have warranted its construction had it not been for the railroads.

Question 71: Why does the author most likely mention George Washington in the first paragraph?

A. He was President at the time the Eric Canal was built.
B. He commissioned engineers to study the possibility of building the Eric Canal.
C. He successfully opened the first canal in the United States.
D. He was involved in pioneering efforts to build canals.

Question 72:  The word “feasibility” in paragraph 1 is closest in meaning to _______

A. possibility
B. capability
C. difficulty
D. profitability
Question 73:  According to the passage, the Eric Canal connected the _______

A. Delaware and Potomac Rivers
B. Hudson River and Lake Eric
C. Atlantic Ocean and the Hudson River
D. Potomac and Ohio Rivers
Question 74:  The phrase “on-again-off-again” in paragraph 3 could be replaced by which of the following with the least change in the meaning?

A. ineffectual
B. unsolicited
C. intermittent
D. gradual
Question 75:  The completion of the Eric Canal was financed by _______

A. private company         B. DeWitt Clinton            C. the federal government
D. New York
Question 76:  The actual cost of building the Eric Canal was _______

A. $5 million      B. less than had been expected   C. $7 million              D. more than could be repaid
Question 77:  The word “tolls” in paragraph 4 is closest in meaning to which of the following?

A. Grants
B. Fees
C. Links
 D. Jobs

Question 78:  Which of the following is NOT given as an effect of the building of the Eric Canal in paragraph 4?

A. It took water traffic away from the Mississippi River.
B. It established Boston and Philadelphia as the most important centers of trade.
C. It helped determine the outcome of the Civil War.
D. It allowed the East coast to trade with the Great Lake Sea.
Question 79:  What can be inferred about railroads in 1849 from the information in the last paragraph?

A. They were being planned but had not been built.
B. They were seriously underdeveloped.
C. They had begun to compete with the Eric Canal for traffic.
D. They were weakened by the expansion of the canal.
Question 80:  The word “warranted” in paragraph 5 is closest in meaning to _______
A. hastened
B. guaranteed
C. justified
D. prevented
-----------------------------------------------

----------- THE END ----------
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ĐỀ THI GỒM 80 CÂU (TỪ QUESTION 1 ĐẾN QUESTION 80)

Mark the letter A, B, C, or D on you answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1: A. innocent
B. nevertheless
C. contents
D. supermarket
Question 2: A. argument
B. enquiry
C. medicine
D. justify
Question 3: A. convenience
B. mechanic
C. preference
D. official
Question 4: A. recently
B. attitude
C. octopus
D. proposal
Question 5: A. economy
B. advisory
C. peninsula
D. economics

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 6:  My friend has _________ for a bargain.

A. a sharp ear
B. a strong head
C. a keen eye
D. a keen ear
Question 7:  The Southeast Asian Games___________its origin to the Southeast Asian Peninsular Games.

A. has
B. owes
C. returns
D. dates back
Question 8:  It is not until December 25 _________the exam results will be announced.

A. which
B. what
C. that
D. when
Question 9:  ________that he felt that he didn’t have to revise any more.

A. So confident in passing was that arrogant student
B. Such confidence in passing did that arrogant student have
C. So confident was that arrogant student of passing
D. Such was the confidence of that arrogant student on passing
Question 10:  The whole building collapsed, but fortunately there were no_________

A. victims
B. wounded
C. hurt
D. casualties
Question 11:  A. “I would like to invite you to our wedding anniversary this Saturday morning.”

  

B. “__________”

A. Thank you for your request, but I’m sorry I can’t really come.
B. I would love to come but I have prior commitments. I’m sorry.
C. I am sorry. Can you come to my place?
D. How about going to the cinema?
Question 12:  Owing to the fog, his flight from Karachi was_________

A. belated
B. overdue
C. unscheduled
D. unpunctual
Question 13:  He was given a medal in_________of his service to the country.

A. gratitude
B. recognition
C. knowledge
D. response
Question 14:  She ________till the early hours listening to pop music.

A. took me up
B. kept me up
C. caught me up
D. held me up
Question 15:  I _________happy to see him, but I didn’t have time.

A. would have been
B. will be
C. would be
D. will have been
Question 16:  A. “Where is my bag?”

 B “__________”

A. Here are you
B. There is it
C. Here you are
D. There it is
Question 17:  I am reading this novel. By the time you come back from work, I_________

A. shall finish
B. shall have finished
C. will finish
D. have finished
Question 18:  ________to Jim myself, I can’t really tell you why he would say such terrible things.

A. Not to be speaking
B. Because of not speaking
C. Not to have spoken
D. Not having spoken
Question 19:  We hire our bicycle _________

A. by the hour
B. by hours
C. by an hour
D. for hours
Question 20:  Please don’t __________yourself out. A sandwich will do.

A. let
B. put
C. leave
D. take
Question 21:  A. “If only I hadn’t said that to her”.

 
            B. “_________________”
A. Ah, well, that is life.
B. Yes, you mustn’t have done like that
C. No worry, that’s nothing .
D. No, you’ve done a very good job
Question 22:   A. “I apologize to you for not keeping my promise”

 B. “ __________”

A. Well, that’s out of question.
B. Your apology is accepted.
C. I am grateful to that.
D. That was very sweet of you.
Question 23:  A. “How come you didn’t tell me that you would quit the job?”

  
            B. “__________”.

A. Because I knew you would make a fuss about it.
B. I would love to. Thank you.
C. I found the job so demanding.



D. Because I’m so bored with it.
Question 24:  Stop fighting you two- shake hands and ________your peace with each other!

A. set
B. do
C. make
D. bring
Question 25:  Fire crews have been operating at full________.

A. effort
B. power
C. strength
D. energy
Question 26:  It was suggested that they_________the distance in very short time.

A. would cover
B. covered
C. had cover
D. cover
Question 27:  I am writing with_________to our telephone conversation yesterday.

A. accordance
B. reference
C. similarity
D. speaking
Question 28:  He kept his marriage for years, but eventually the truth ________

A. came out
B. went out
C. came through
D. fell out
Question 29:  Getting a good school _________is what you need to do.

A. report
B. mark
C. raise
D. comment
Question 30:  My decision to leave university after a year is one I now_________regret.

A. harshly
B. painfully
C. keenly
D. heavily

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.

Question 31:  She had a cozy little apartment in Boston.

A. uncomfortable
B. dirty
C. lazy
D. warm
Question 32:  A frightening number of illiterate students are graduating from college.

A. able to read and write

B. able to join intramural sport
C. inflexible



D. unable to pass an examination in reading and writing

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word(s) for each of the following blanks. 

BOOKS BEFORE SCHOOL?

        Many people believe that they should begin to teach their children to read when they are scarcely more than toddlers. This is fine if the child shows a real interest but forcing a child could be (33)________ if she isn’t ready. Wise parents will have a (34)________attitude and take the lead from their child. What they should provide is a selection of (35)________ books and other activities. Nowadays, there is plenty good (36)________available for young children, and of course, seeing plenty of books in use about the house will also encourage them to read. 

        Of course, books are no longer the only source of stories and information. There is also a huge range of videos, which can (37)________and extend the pleasure a child finds in a book and are equally valuable in helping to increase vocabulary and concentration. Television gets a bad (38)________ as far as children are concerned, mainly because too many spend too much time watching programs not intended for their age group. Too many television programs attract an incurious, uncritical attitude that is going to make learning more difficult. However, (39)________viewing of programs designed for young children can be useful. Just as adults enjoy reading a book after seeing it (40)________on television, so children will pounce on books which (41)________ their favorite television characters , and videos can add a new (42)________to a story known from a book.

Question 33: A. unuseful             B. unproductive
C. useful
                  D. counter-productive
Question 34: A. cheerful
B. contented
C. relaxed
D. hopeful
Question 35: A. bright
B. thrilling
C. energetic
D. stimulating
Question 36: A. material
B. sense
C. produce
D. amusement
Question 37: A. uphold
B. found
C. assist
D. reinforce
Question 38: A. review
B. press
C. criticism
D. result
Question 39: A. cautious
B. choice
C. discriminating
D. approved
Question 40: A. serialized
B. revised
C. transferred
D. visualized
Question 41: A. illustrate
B. extend
C. possess
D. feature
Question 42: A. revival
B. dimension
C. option
D. existence

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions.

Question 43:  It was boiling yesterday. We have a very humid and dry summer this year.

A. very hot
B. cooking
C. dry
D. cooked
Question 44:  It was inevitable that the smaller company should merge with the larger one.

A. vital
B. unnecessary
C. urgent
D. unavoidable
Question 45:  He made one last futile effort to convince her and left home.

A. favorable
B. difficult
C. ineffectual
D. firm

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.         

Leonardo da Vinci was born on April 15, 1452, in the small Tuscan town of Vinci, near Florence. He was the son of a wealthy Florentine public official and a peasant woman. In the mid-1460s, the family settled in Florence, where Leonardo was given the best education that Florence could offer. He rapidly advanced socially and intellectually. He was handsome, persuasive in conversation, and a fine musician and improviser. About in 1466 he apprenticed as a studio boy to Andrea Del Verrocchio. In Verrocchio’s workshop, Leonardo was introduced to many activities, from the painting of altarpieces and panel pictures to the creation of large sculptural projects. In 1472, he was entered in the painter’s guild of Florence, and in 1476, he was still mentioned as Verrocchio’s assistant. In Verrocchio’s Baptism of Christ, the kneeling angel at the left of the painting is by Leonardo. 

In 1478, Leonardo became an independent master. His first commission, to paint an altarpiece for the chapel of the Palazzo Vecchino, the Florentine town hall, was never executed. His first large painting, The Adoration of the Magi, left unfinished, was ordered in 1481 for the Monastery of San Donato a Scopeto, Florence. Other works ascribed to his youth are the so-called Benois Madonna, the portrait Ginerva de’ Benci, and the unfinished Saint Jerome. 

        In 1482, Leonardos career moved into high gear when he entered the service of the duke of Milan, Ludovico Sforza, having written the duke an astonishing letter in which he stated that he could build portable bridges; that he knew the techniques of constructing bombardments and of making cannons; that he could build ships as well as armored vehicles, catapults, and other war machines; and that he could execute sculpture in marble, bronze, and clay. He served as a principal engineer in the duke’s numerous military enterprises and was so active also as an architect. In addition, he assisted the Italian mathematician Luca Pacioli in the celebrated work Divina Proportione.

        Evidence indicates that Leonardo had apprentices and pupils in Milan, for whom he probably wrote the various texts later compiled as Treatise on Painting. The most important of his own paintings during the early Milan period was The Virgin of the Rocks, two versions of which exist; he worked on the compositions for a long time, as was his custom, seemingly unwilling to finish what he had begun.
        From 1495 to 1496, Leonardo labored on his masterpiece, The Last Super, a mural in the refectory of the Monastery of Santa Maria Delle Grazie, Milan. Unfortunately, his experimental use of oil on dry plaster was technically unsound, and by 1500 its deterioration had begun. Since 1726 attempts have been made, unsuccessfully, to restore it; a concerted restoration and conservation program, making use of the latest technology, was begun in 1977 and is reversing some of the damage. Although much of the original surface is gone, the majesty of the composition and the penetrating characterization of the figures give a fleeting vision of its vanished splendor. 

        During his long stay in Milan, Leonardo also produced other paintings and drawings, most of which have been lost, theater designs, architectural drawings, and models for the dome of Milan Cathedral. His largest commission was for a colossal bronze monument to Francesco Sforza, father of Ludovico, in the courtyard of Castello Sforzesco. In December 1499, however, the Sforza family was driven from Milan by French forces; Leonardo left the statue unfinished and he returned to Florence in 1500.

Question 46:  What is NOT mentioned about the young Leonardo da Vinci?

A. He was physically attractive.

B. He was a talented speaker

C. He was well-connected


D. He was gifted in many fields of art.

Question 47: The word “apprenticed” in paragraph 1 is closest in meaning to_______

A. cleaned

B. painted

C. studied

D. mastered

Question 48: What can be inferred about Andrea Del Verrocchio?

A. He was a writer



B. He was well-known

C. He was poor



D. He had many students

Question 49:  How old was Leonardo da Vinci when he became an independent master?

A. 23


B. 25


C. 26


D. 28

Question 50: The pronoun “he” in paragraph 3 refers to_______

A. Leonardo da Vinci
 B. The duke

C. Sforza

D. Milan

Question 51: What is NOT mentioned as a work by a young Leonardo da Vinci?

A. The Adoration of the Magi


B. Ginerva de’ Benci

C. Donato a Scopeto



D. Saint Jerome

Question 52: The word “catapults” in paragraph 3 is probably_______

A. an animal




B. a method of transportation


C. a food




D. an arm

Question 53: Which of the following sentences best paraphrases the information in the passage?

“He worked on the compositions for a long time, as was his custom, seemingly unwilling to finish what he had begun.”

A. Leonardo felt the need to work on his works for as long a time as was needed to achieve perfection.

B. For some reasons, Leonardo da Vinci took an extraordinarily long time to finish many creations.

C. Leonardo kept working until everything seemed perfect.

D. Leonardo would start many projects at the same time, but they would never finish together.

Question 54:  The word “concerted” in paragraph 5 is closest in meaning to_______

A. musical

B. artistic

C. organized

D. painful

Question 55: What is NOT mentioned as a creation of Leonardo da Vinci’s while he was in Milan?

A. theatre designs



B. architectural drawings

C. models of bronze horses


D. models for church domes
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions.

Question 56:  All Vietnamese special schools are funded by money from government and/or

A

  
              B 


        C
  

 charity organizations.     

                 D

Question 57:  Establishing in 1984 for students who wanted to study art and music subjects, LaGuardia

       A

  
      B

 was the first public school of its kind.
    C


             D

Question 58:  Everyone needs special care and attention so that he or she will grow up into a 

        A
                B


                 C

             D

responsible human being.       

Question 59:  Some of the people were standing in the street watched the parade, while others were

             
A

          B

         C


              D

singing songs.  

Question 60:  The streets are crowded with a population who has no interest in learning.



      
         A

       B

           C                  D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence.

Question 61:  “If you practice more, you might be able to make a career out of music”. Her teacher said.

A. Her teacher said that if she practiced more, she might be able to make a career out of music.
B. Her teacher said that if she practiced more, she might have been able to make a career out of music.
C. Her teacher said that if she had practiced more, she might be able to make a career out of music.
D. Her teacher said that if she had practiced more, she might have been able to make a career out of music.
Question 62: The purpose of any invention is to make our lives better, so good or bad, it depends on the way by which we use these inventions.

A. Whether an invention is good or bad depends on the way by which we use it because the purpose of any invention is to make our lives better.
B. We can use either good or bad inventions to make our lives better.
C. The purpose of any invention, whether good or bad, is to make our lives better. This depends on the way by which we use these inventions.
D. Good or bad as they are, all inventions have the same purpose to make our lives better.
Question 63: California attracted people from many countries when gold was discovered in 1848.

A. Discovered in 1848, gold was attractive to people in California.
B. Discovered in California in 1848, gold attracted people from many countries there.
C. Gold in California was discovered in 1848 after many people came here.
D. When people are attracted to California, they discovered gold in 1848.
Question 64:  The number of people who understand his ideas exceeds his expectations.

A. Fewer people understand him that he expects.
B. Not as many people understand him as he expects.
C. More people understand him than he expects.
D. He expects that more people understand him.
Question 65:  Fred had only himself to blame for losing his driving license for repeated speeding.

A. It’s a pity for Fred to lose his driving license for repeated speeding.
B. It serves Fred right that he lost his driving license for repeated speeding.
C. Fred’s loss of his driving license was not his fault at all.
D. I feel regrets for Fred’s losing his driving license
Question 66:  It is unlikely that the results of the elections will be made public before tomorrow morning.

A. Tomorrow morning is probably the earliest that anyone will know the results of the elections.
B. Before tomorrow morning we will probably know the results of the elections.
C. The results of the elections will most likely be made known before tomorrow morning.
D. We will probably not be told the results of the elections tomorrow morning.
Question 67:  Tom went on and on apologizing for it, which was quite unnecessary.

A. Tom can’t have apologized. I quite understand.
B. Tom shouldn’t have apologized. I quite understand.
C. Tom wouldn’t have apologized. I quite understand.
D. Tom needn’t have apologized. I quite understand.
Question 68:  You must make allowances for his inexperience.

A. He was not allowed to go because of his inexperience.
B. Although he was inexperienced, we must let him in.
C. You shouldn’t pay attention to his inexperience.
D. You should take his inexperience into account.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is best-built from the prompts given.

Question 69:  He/ problems/not/concentrate/office work

A. He has so much problems that he cannot concentrate on his office work.
B. He has such many problems that he cannot concentrate on his office work.
C. He has too many problems so that he cannot concentrate on his office work.
D. He has such a lot of problems that he cannot concentrate on his office work.
Question 70:  All/ people/earth/know/without/ ozone layer, not only/ human beings/ but also/all/plants and animals/ expose/ dangerous rays/sun

A. All of people on earth know that without the ozone layer, not only human beings but also all plants and animals are exposed by dangerous rays from the sun.


B. All people on earth know that without the ozone layer, not only human beings but also all plants and animals would be exposed to dangerous rays from the sun.
C. All of people on earth know that without the ozone layer, not only human beings but also all plants and animals would expose to dangerous rays of the sun.


D. All people on the earth know that without the ozone layer, not only human beings but also all plants and animals would expose to dangerous rays of the sun.
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions. 

It is said that George Washington was one of the first to realize how important the building of canals would be to the nation’s development. In fact, before he became the President, he headed the first company in the United States to build a canal, which was to connect the Ohio and Potomac rivers. It was never completed, but it showed the nation the feasibility of canals. As the country expanded westward, settlers in western New York, Pennsylvania, and Ohio needed a means to ship goods. Canals linking natural waterways seemed to supply an effective method.

In 1791, engineers commissioned by the state of New York investigated the possibility of a canal between Albany on the Hudson River and Buffalo on Lake Eric to link the Great Lakes area with the Atlantic seacoast. It would avoid the mountains that served as a barrier to canals from the Delaware and Potomac rivers.

The first attempt to dig the canal, to be called the Eric Canal, was made by private companies but only a comparatively small portion was built before the project was halted for lack of funds. The cost of the prospect was an estimated $5 million, an enormous amount for those days. There was some on-again-off-again federal funding, but this time the War of 1812 put an end to construction. In 1817, DeWitt Clinton was elected Governor of New York and persuaded the state to finance and build the canal. It was completed in 1825, costing $2 million more than expected. 

The canal rapidly lived up to its sponsors’ faith, quickly paying for itself through tolls. It was far more economical than any other form of transportation at the time. It permitted trade between the Great Lake region and the East coast, robbing the Mississippi River of much of its traffic. It allowed New York to supplant Boston, Philadelphia, and other eastern cities as the chief center of both domestic and foreign commerce. Cities sprang up along the canal. It also contributed in a number of ways to the North’s victory over the South in the Civil War.

An expansion of the canal was planned in 1849. Increased traffic would undoubtedly have warranted its construction had it not been for the railroads.

Question 71: Why does the author most likely mention George Washington in the first paragraph?

A. He was President at the time the Eric Canal was built.
B. He commissioned engineers to study the possibility of building the Eric Canal.
C. He successfully opened the first canal in the United States.
D. He was involved in pioneering efforts to build canals.

Question 72:  The word “feasibility” in paragraph 1 is closest in meaning to _______

A. possibility
B. capability
C. difficulty
      D. profitability
Question 73:  According to the passage, the Eric Canal connected the _______

A. Delaware and Potomac Rivers
B. Hudson River and Lake Eric
C. Atlantic Ocean and the Hudson River
D. Potomac and Ohio Rivers
Question 74:  The phrase “on-again-off-again” in paragraph 3 could be replaced by which of the following with the least change in the meaning?

A. ineffectual
B. unsolicited
C. intermittent
      D. gradual
Question 75:  The completion of the Eric Canal was financed by _______

A. private company         B. DeWitt Clinton            C. the federal government
D. New York
Question 76:  The actual cost of building the Eric Canal was _______

A. $5 million      B. less than had been expected   C. $7 million              D. more than could be repaid
Question 77:  The word “tolls” in paragraph 4 is closest in meaning to which of the following?

A. Grants
B. Fees
C. Links
     D. Jobs

Question 78:  Which of the following is NOT given as an effect of the building of the Eric Canal in paragraph 4?

A. It took water traffic away from the Mississippi River.
B. It established Boston and Philadelphia as the most important centers of trade.
C. It helped determine the outcome of the Civil War.
D. It allowed the East coast to trade with the Great Lake Sea.
Question 79:  What can be inferred about railroads in 1849 from the information in the last paragraph?

A. They were being planned but had not been built.
B. They were seriously underdeveloped.
C. They had begun to compete with the Eric Canal for traffic.
D. They were weakened by the expansion of the canal.
Question 80:  The word “warranted” in paragraph 5 is closest in meaning to _______
A. hastened
B. guaranteed
C. justified
D. prevented
-----------------------------------------------

----------- THE END ----------
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Mark the letter A, B, C,or  D on your answer sheet to indicate the word or phrase that is closest in 

meaning to the underlined part in each of the following questions from 1 to 5. 

Question1: There were so many members of the political party who had gone against the leader that he 

resigned. 

A. apposed                      B. insisted
C. invited

D. opposed



a. Question 2: If petrol price go up any more, I shall have to use a bicycle.

A. develope
B. ascend
C. raise

D. increase


Question 3: I didn’t go to work this moring . I stayed at home because of the morning rain.


A. thanks to 
B. on account of 
C. in spite of

D. in addition to 

Question 4: The new cow boy-film catches the fancy of the children.


A. attracts
B. statisfies
C. surprises

D. amuses

Question 5: Now I understand why you moved out of that house.

A. I am surprised
B. it frustrates me
C. I am intrigued
D. it makes sense to me

Mark the letter A, B, C,or D on your answer sheet to indicate the sentence that is best written based

on the words provided in the following questions from 6 to 10 .   

Question 6: Hardly / I / go back / sleep when / loud noise upstairs / wake / up. 

A. Hardly had I gone back to sleep when a loud noise upstairs wake me up.
B. Hardly I had gone back to sleep then a loud noise upstairs woke me up.
C. Hardly had I gone back to sleep than a loud noise upstairs woke me up. 
D. Hardly had I gone back to sleep when a loud noise upstairs woke me up. 

Question 7: way / protect / all the wildlife / must / find/ many species / in danger of extiction

A. A way is protected for all the wildlife, finding any species which are in danger of extinction. 
B. A way protects all the wildlife that are found among many species in danger of extinction. 
C. A way of protecting all the wildlife must be found as many species are in danger of extinction.

D. A way to protect all the wildlife must find as many species are in danger of extinction. 

Question 8: factory/ close down/ account/ economic depression

A. The factory had to close down on account for the economic depression.

B. The factory  was closed down on account of the economic depression.

C. The factory had to close down on account by the economic depression.

D. The factory had to close down on account  of the economic depression.

Question 9: I/ not think/ my brother/ make/ mistake/ purpose.

A. I don’t think that my brother made that mistake for purpose.

B. I don’t think that my brother made that mistake on purpose.

C. I don’t think that my brother made that mistake with purpose.

D. I don’t think that my brother made that mistake at purpose.

Question 10: you/ know/ Linda/ engage/ friend / mine?

A. Do you know that Linda will be engaged with a friend of mine?

B. Do you know that Linda will be engaged up a friend of mine?

C. Do you know that Linda will be engaged to a friend of mine?

D. Do you know that Linda will be engaged for a friend of mine?

Mark the letter A, B, C,or  D on your answer sheet to indicate the word that differs from

 the rest in the position of the main stress in each of the following questions  from 11 to 15.

Question 11:  A. contaminate       
B. artificial        C. intelligent      
D. encouragement

Question 12:  A. argument       
B. employee     C. category     
D. difference

Question 13: 
A. appointment      
B. strawberry   C. powerful      
D. cucumber

Question 14: 
A. promise       
B. relieve      
   C. succeed      
D. survive

Question 15: 
A. salary

B. essential
   C. memory

D. interview

Mark the letter A, B, C, or  D on your answer sheet to show the underlined part that needs 

correction from  16 to 20.      

Question 16:  It is believed that in the near future robots will be used to doing things such as cooking.

                                A                           B                                           C                               D                 

Question 17: John announced that he could not longer tolerate the conditions of the contract under which

                                          A                                    B                                          C                             D

he was working.     

Question 18: After driving for twenty miles, he suddenly realised that he has been driving in the wrong 

                             A 




      B                                    C                        D

direction. 

Question 19: I think she will be suitable for the work because she has been working like a teacher for a 

                                            A                    B                                                 C                D  

long time. 

Question 20: Passengers are required to arrive to the gate fifteen minutes before departure time. 

                                                 A                 B                                                   C             D    

Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the correct  answer to each of the following questions from 21 to 30 .

If you are an environmentalist, plastic is a word you tend to say with a sneer or snarl. It has become a symbol of our wasteful, throw-away society. But there seems little (21) ______ it is here to stay, and the truth is, of course, that plastics have brought enormous (22) ______ , even environmental ones. It’s not really the plastics themselves that are the environmental evil – it’s the way society chooses to use abuse them.

Almost all the 50 or so different kinds of modern plastics are made from oil, gas, or coal-non-renewable natural (23) ______ . We (24) _______ well over three million tons of the stuff in Britain each year and, sooner or later, most of it is thrown away. A high (25) _______ of our annual consumption is in the (26) ________ of packaging, and this (27) ________ about seven per cent by weight, of our domestic (28) ________ . Almost all of it could be recycled, but very little of it is, though the plastic recycling (29) _______ is growing fast.

The plastics themselves are extremely energy-rich. They have a higher caloric value than coal and one method of “recovery” strongly favored by the plastic manufacturers is the (30) _______ 0f waste plastic into fuel. 

Question 21.  A. doubt           
B. evidence     
C. concern       
D. likelihood

Question 22.  A. pleasures      
B. benefits      
          C. savings         
D. profits

Question 23.  A. processes       
B. products      
C. fuels        

D. resources

Question 24.  A. remove         
B. consume         
C. change         
D. import

Question 25.  A. proportion    
B. portion        
C. amount        
D. rate

Question 26.  A. way

          B. form       

C. kind       

D. type

Question 27.  A. takes        
         B. makes        
         C. carries            
D. constitutes

Question 28.  A. goods        

B. refuse        
         C. rubble            
D. requirements

Question 29.  A. industry      

B. manufacture    
C. factory         
D. plant

Question 30.  A. melting       

B. change        
C. conversion   
D. replacement

Mark the letter A, B, C, or  D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions from 31 to 35 .

Question 31. “Leave my house now or I’ll call the police!” shouted the lady to the man.

A. The lady threatened to call the police if the man didn’t leave her house.

B. The lady said that she would call the police if the man didn’t leave her house.

C. The lady told the man that she would call the police if he didn’t leave her house.

D. The lady informed the man that she would call the police if he didn’t leave her house.

Question 32. The leader of the group came up with the best solution to the problem.  

A. The leader of the group could solved the problem easily.

B. Noone could solve the problem except the leader of the group.

C. The best solution to the problem was thought of by the leader of the group.

D. The best solution to the problem was carried out by the leader of the group.

Question 33. But for his farther’s early retirement, Richard wouldn’t have taken over the family business.

A. If it hadn’t been for his farther’s early retirement, Richard wouldn’t have taken over the family business.

B. Richard only took over the family business because his farther decided to retire early.

C. Had it not been for his farther’s early retirement, Richard wouldn’t have taken over the family business.

D. All are correct

Question 34. Mary isn’t used to getting up late at night.

A. Mary isn’t accustomed to getting up late at night.

B. Mary doesn’t like getting up late at night.

C. Mary used to get up late at night when she was young.

D. Mary usually get up late at night.

Question 35.  “ It was you and only you who stole the cake from the fridge,” my mother told my sister.

A. My mother criticized my sister for having stolen the cake from the bridge.

B. My mother blamed my sister for having stolen the cake from the bridge.

C. My mother accused my sister for having stolen the cake from the bridge.

D. My mother accused my sister of having stolen the cake from the bridge.

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct  answer to each of the following questions from 36 to 45.

In the United States, presidential elections are held in years evenly divisible by four (1888, 1900, 1964, etc.). Since 1840, American presidents elected in years ending with zero have died in office, with one exception. William H. Harrison, the man who served the shortest term, died of pneumonia only several weeks after his inauguration. 

Abraham Lincoln was one of four presidents who were assassinated. He was elected in 1860, and his untimely death came just five years later. James A. Garfield, a former Union army general from Ohio, was shot during his first year in office (1881) by a man to whom he wouldn't give a job. While in his second term of office (1901), William McKinley, another Ohioan, attended the Pan-American Exposition in Buffalo, New York. During the reception, he was assassinated while shaking hands with some of the guests. John F. Kennedy was assassinated in 1963 in Dallas only three years after his election. 

Three years after his election in 1920, Warren G, Harding died in office. Although it was never proved, many believe he was poisoned. Franklin D. Roosevelt was elected four times (1932, 1936, 1940 and 1944), the only man to serve so long a term. He had contracted polio in 1921 and eventually died of the illness in 1945. 

Ronald Reagan, who was elected in 1980 and reelected four years later, suffered an assassination attempt but did not succumb to the assassin's bullets. He was the first to break the long chain of unfortunate events. Will the candidate in the election of 2020 also be as lucky? 

Question 36. All of the following were election years EXCEPT ____ 

A. 1860 





B. 1960 




C.1888 





D.1963 

Question 37. Which president served the shortest term in office? 

A. Abraham Lincoln 




B. Warren G. Harding



C. William McKinley 




D.William H. Harrison 

Question 38. Which of the following is true? 

A. All presidents elected in years ending in zero have died in office. 

B. Only presidents from Ohio have died in office. 

C. Franklin D. Roosevelt completed four terms as president. 

D. Four American presidents have been assassinated. 

Question 39. How many presidents elected in years ending in zero since 1840 have died in office? 

A. 7 






B. 5 





C. 4 






D. 3 

Question 40. The word "inauguration" in the first paragraph means most nearly the same as 

A. election 





B. acceptance speech 



C. swearing-in ceremony 



D. campaign 

Question 41. All of the following presidents were assassinated EXCEPT ____ 

A. John F. Kennedy 




B. Franklin D. Roosevelt 


C. Abraham Lincoln 




D. James A. Garfield 

Question 42. The word "assassinated" in the second paragraph is closest in meaning to 

A. murdered 





B. decorated 




C. honored 





D. sickened
Question 43. The word "whom" in the second paragraph refers to ____ 

A. Garfield 






B. Garfield's assassin 



C. a Union army general 




D. McKinley 

Question 44. In the third paragraph, "contracted" is closest in meaning to ____ 

A. communicated about 




B. developed 




C. agree about 





D. notified 

Question 45. How long did Warren G, Harding work as a president? 

A. 2 years 






B. 3 months 




C. 3 years 






D. 4 years 

Mark the letter A, B, C,or D on your answer sheet to indicate the correct answer to each of the following questions from 46 to 70. 

Question 46: The doctors know that it is very difficult to save the patient's life, _______they will try their best.

A. but 



B. although     

C. despite 


D. however

Question 47: By the time the boss comes back from England, the work _______.

A. will have been finishing     

B. will be finishing 


C. will have been finished      

D. will be finished

Question 48:  -" _______"



- "Yes. I'd like to buy a camera."

A. Do you look for something?

B. Excuse me. Can I help you?

C. Excuse me. Do you want to buy it?
D. Excuse me. Can you help me buy something? 

Question 49:  She’d rather ________ a hot beverage during a meal.

A. me not to have

B. me did not have 
C. I did not have

D. I do not have

Question 50:  - “Do you like your new job, Jane?”



- "Yes, but my employer insisted that I _______on time."

A. am          



B. be           

C. had been     

D. was 

Question 51: ______ with her boyfriend yesterday, she doesn't want to answer his phone call. 

A. Having quarreled 





B. Because having quarreled 

C. Because of she quarreled  

D. Had quarreled 

Question 52: Everyone in both cars _____ injured in the accident last night, ______? 

A. were / weren't they 




B. was / weren't they 


C. was / wasn't he? 





  D. were / were they 

Question 53: He ________ in trouble with the police now if he had listened to me in the first place.

A. isn’t


 
B. won’t be 

 C. wouldn’t be 

D. wouldn’t have been

Question 54: She ________ the flowers. If she had, they wouldn’t have died.

A. may not have watered



B. shouldn’t have watered


C. can’t have watered 




D. might not have watered 

Question 55: The young girl ______ down completely on hearing of her father’s death.

A. broke

B. fell 


C. turned

     
D. went


Question 56: - “I can’t see the stage very well from here.”

                      - “ _______________ .”

A. Neither can’t I.
B. So do I 

C. Neither I can 
     
D. I can’t, either

Question 57: The mother ______ her little son, She gives him whatever he wants.

A. spoils

B. harms

C. ruins

    
D. damages

Question 58: Quite soon, the world is going to _________ energy resources.

A. get into 

B. run out of

C. keep up with

D. come up against

Question 59: Is this the address  ________ you want the package sent?

A. that 

         B. where 

C. to which 


D. which


Question 60: . “Don’t forget to do as I have told you.”         “_____________ “

A. Yes, I won’t 
B. Yes, I will

C. No, I won’t

D. No, I will remember

Question 61:
_______, he couldn’t finish that test in 60 minutes.

A. As the boy was intelligent


B. Intelligent as the boy was 


C. As intelligent the boy was


D. Intelligent as was the boy


Question 62: Many of the pictures sent from outer space are presently on ______ in the public library. 

A. duty   
B. exchange  
C. display  
D. account 

Question 63: _________________, Mozart was an accomplished composer while still a child.

A. Whatever it seems remarkable how.
B. No matter how seems it remarkable.

C. No matter how it seems remarkable.
D. No matter how remarkable it seems. 

Question 64:  You may borrow as many books as you like, provided you show them to ________ is at the desk.

A. whoever

B. whom 

C. who


 D. that

Question 65: Take the number 7 bus and get ________ at Forest Road.

A. down
B. up

C. off 

D. outside

Question 66: Many young people travel all over the world, and then do all kinds of jobs before they __________.

A. touch down
B. settle down 
C. put down 
D. go down

Question 67:
________ students were injured. They all came back unharmed after the long trip.

A. Not any of 
B. Not any of the 
C. None of the 
D. None of  


Question 68: They discussed it for a while and then they __________ an agreement.

A. decided
B. had 
C. approached 
D. reached 

Question 69: People prefer watching films on TV these days _____ going to the cinema.

A. more than              B. to   
C. rather than 
D. than  

Question 70: _______ the airport, I was very worried to find that no one ______ for me.

A. On arriving at/ had waited


B. On arriving at/ was waiting

C. On arriving in/ had waited 

          D. When arriving at/ was waiting

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct  answer to each of the following questions from 71 to 80.


Long ago prehistoric man began to domesticate a number of wild plants and animals for his own use. This not only provided more abundant food but also allowed more people to live on a smaller plot of ground. We tend to forget that all of our present-day pets, livestock, and food plants were taken from the wild and developed into the forms we know today.

 
As centuries passed and human cultures evolved and blossomed, humans began to organise their knowledge of nature into the broad field of natural history. One aspect of early natural history concerned the use of plants for drugs and medicine. The early herbalists sometimes overworked their imaginations in this respect. For example, it was widely believed that a plant or part of a plant that resembles an internal organ would cure ailments of that organ, Thus, an extract made from a heart-shaped leaf might be prescribed for a person suffering from heart problems.

 
Nevertheless, the overall contributions of these early observers provided the rudiments of our present knowledge of drugs and their uses. 

Question 71: What does this passage mainly discuss?

A. Cures from plants.  


B. The beginning of natural history. 

C. Prehistoric man.  

D. Early plants and animals. 

Question 72: Domestication of plants and animals probably occurred because of ______ .

A. need for more readily available food 
B. lack of wild animals and plants 
C. early mans power as a hunter 

D. the desire of prehistoric man to be nomadic

Question 73: The word “This” in the first paragraph refers to ________ .

A. providing food for man 

B. man’s domestication of plants and animals 

C. mans ability to live on a small plot of land 
D. the earliest condition of prehistoric man 

Question 74: The word “blossomed” in the second paragraph is closest in meaning to ______ .

A. produced flowers  


B. changed  


C. learned  



D. flourished

Question 75: An herbalist is which of the following?

A. A dreamer.  
  


B. An early historian.  


C. Someone who uses plants in medicine.  
D. A farmer. 

Question 76: The phrase “in this respect” in the second paragraph refers to ______.

A. the development of human culture 
B. the development of the field of natural history 

C. the use of plants for drugs and medicine 
D. the origin of knowledge of nature

Question 77: The word “extract” in the second paragraph is closest in meaning to ________.

A. design  



B. substance  


C. flavour  



D. ailment

Question 78: Which of the following can be inferred from the passage?

A. The shape of a plant is indicative of its ability to cure ailments of a similarly shaped organ. 

B. There is little relation between a cure for illness and the physical shape of a plant. 

C. The work of early herbalists has nothing to do with present day medicine. 

D. Early herbalists were unimaginative. 

Question 79: The word “rudiments” in the last paragraph is closest in meaning to _______.

A. beginnings  


B. history  



C. requirements  


D. proofs

Question 80: The passage would most likely lead to a more specific discussion in the field of _____ .

A. zoology  


                      B. biology  


C. anatomy  


                      D. astrology

-----------THE END----------
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I. Mark A,B,C or D to indicate the word whose main stress differs from the rest.              
    1. A. consider



B. volunteer


C. entertain


D. comprehend
             

    2. A. effective




B. relative


C. creative


D. deposit
             

    3. A. character


B. institute


C. courageous

D. internet
             

    4. A. certificate


B. compulsory


C. eradicate

D. automatic
             

    5. A. athletic



B. agency


C. advertise

D. celebrate


II. Mark A,B,C or D to indicate the word whose main stress differs from the rest.              
  6. Unless we take immediate precautions, we‘ll not be able to ________ the epidemic.

A. surround


B. contain


C. hold



D. get away 

  7. I can’t _________ of a word he is saying.

A. comprehend


B. understand


C. grasp



D. make sense
  8. Although the hours are longer, John earns more in his new job.

A. gets on



B. brings in



C. makes out


D. takes up
    

  9. ____________  you to be offered that job, would you have to move to another city?
      
A. Provided that
B. Should
C. Were
D. Had (đảo ngữ ĐK loại 2)

  10. After her mother died, she was raised by her grandparents.

A. grown up


B. brought up

C. come into

      D. put up
   

  11. Jump in the car. There’s enough ______ for you.

A. room


B. place



C. space



D. chair
            

  12. I believe the Danish language is very difficult to pick ______ quickly.

A. on

B. in



C. up



D. for 

  13. Some fish can survive in salt water, __________ other species can live only in fresh water.

       A. where



B. as long as


C. whereas

 
D. since


  14. It is time every student _________work harder for the coming exam..


A. has to



B. had to 


C. must 


D. should
                   

  15. The concert was ____________ because of the heavy rain.


A. put out



B. called off


C. run out


D. set off


  16. It was cold and wet. _________ Bob put on his swimming suit and went to the beach.

     
A. Although



B. Therefore


C. Moreover

D. Nevertheless
  17. Instead of being excited about the good news, Ted seemed to be ____________.


A. ignorant



B. indifferent


C. unlikely


D. unexpected


  18. The only people she looks ____ to are her parents.



A. after



B. for



C. at



D. up
  19. The doctor who is _______ tonight in the general hospital is Mr. Brown.


A. on turn 


B. on tour


C. on call


D. on work

  20. If you want to get better, do exactly _________ your doctor tells you.

A. like

B. the same



C. as



D. alike 

  21. The window was so high that ________ I could see was the sky. 


A. which


   B. just 




C. all




D. there

  22. ___________ broken into when we were away on holiday.


A. It was our house




B. We had our house  

C. Thieves had our house


D. Our house had

  23. Police believe that there is a _______ between two crimes.


A. connector



 B. relation




C. chain



D. link
 

  24. Conservationists ______________ that experiments on animals be stopped.

      A. banned



 B. complained



C. said



D. recommended                                                                                                                                                                                                                                                                                                                                                                                                                                                                25. ____________ the noise and pollution in the city, the Browns move to the countryside.

A. Be tired of
 
B. Being tired of


C. Tired of
 

D. Were tired of 

  26. The company has just got a big order and the workers are working around the_________.


A. night
B. day
C. hour
D. clock 

  27. It took me 10 years to _________ enough money to travel around the country.


A. .set out

 
B. put away
C. put by

D. save aside

  28. The ground is wet. It _______________ rained last night.


A. must

B. must have

C. may have

D. might have

  29. ___________ members of my family has a share in doing household chores.


A. Every
B. Each of the
C. All


 D. None of

  30. I don’t like John. His _________ complaints make me angry.


A. continual


B. continuous

C. constant

D. permanent

III. Read the following passage and mark the letter A, B, C, or D to indicate the correct word for each of the blanks from 31 to 40. 

Health is something we tend to (31) _______ when we have it. When our body is doing well, we are hardly (32) ________ of it. But illness can come, even (33) _______ we are young. In fact, childhood has been a very susceptible time. Many diseases attack children in particular, and people know very little (34) ______ to cure them once they struck. The result was that many children died. About a century ago, (35) _________, scientists found out about germs, and then everything changed. The (36) _____ of many diseases was found, and cures were developed. As this medical discovery spread, the world became (37) _____ safer for children. The result is that (38) _________ a hundred years ago, the average man lived for 35 years, nowadays, in many areas of the world, people can (39) _______ to live for 75 years. And what do we expect by the year 2020 ? Undoubtedly, medical science will continue to (40) ________. Some people will be able to avoid medical problems that are unavoidable today.

  31. A. forget
B. ignore
C. give up
D. throw away

  32. A. awake
B. keen
C. aware
D. concerned

  33. A. if
B. so
C. when
D. while

  34. A. how
B. what
C. which
D. when

  35. A. therefore
B. however
C. although
D. moreover

  36. A. reason
B. origin
C. source
D. cause

  37. A. more
B. much
C. very
D. quite

  38. A. where
B. when
C. why
D. whereas
  39. A. desire
B. hope
C. want
D. expect
  40. A. speed up
B. advance
C. accelerate
D. run 


IV. Mark the letter A, B, C or D to complete each of the following questions.

   41. _______ people to work together effectively, they need to be sensitive to each other’s needs.   


A. In order to           B. In order that

C. In order for
  D. So that

   42. They forgot about ___________ them to join us for lunch.


A. us to ask            B. us asking
        C. we asking

D. our asking
   43. A few of ___________ are planning to ride to the countryside this weekend. 


A. we boys            B. us boys
C. boys we


D. boys us

   45. A partnership is an association of two or more individuals ___  together to develop a business.


A. who working        B. who works           C. those who work
D. working
44. Last Sunday was ___________________ that we decided to go on a picnic.


A. so beautiful a day


B. such beautiful a day


C. such beautiful day



D. so beautiful day
V. Mark the letter A, B, C, or D to indicate the underlined part that needs correction.  
   46. Most bacteria has strong cell walls much like those of the plants (Bacteria là danh từ số nhiều gốc từ 

            A                   B  (have)                              C              D                           chữ Latin)

   47. There are many researches show that various species of animals have been extinct.

                    A                                B (showing)                                    C                            D

  48.  The people in Europe are now using the common unit of money called Euro, although 

                                                     A                                                            B                    C

           the economies in those countries are not exact the same.
                                                                               D (exactly) the same là tính từ luôn luôn có “the”)

  49. In some states, the law allows drivers to turn right at a red light, but in other states, the law does not

               A                                                       B                                                C

          leave them do it. 

             D (let)
  50. The boy has returned the wallet back to its original owner right after he picked it up.

                                              A                         B      C                                               D

                           (Dùng return thì không dùng back)

VI. Read the passage and mark the letter A, B, C or D  to indicate the correct answer to each of  

    the questions from 51 to 60.


Herbs are different kinds of plants and plant parts that can be used for medicinal purposes. This can be the leaves, stems, roots or seeds of the plant. Herbs have been important traditional medicine for centuries in both the East and the West. In Western medicine, they have been largely replaced by drugs. Herbal treatments are, however, still an integral part of Eastern medicine. In recent years, interest in traditional medicine has increased in the West. 


The main difference between herbs and drugs is that, while herbs are simply parts of the plant, drugs are specific chemicals in a pure form. Many modern drugs are derived from chemicals found in plants. One example is aspirin, which is made from a chemical extracted from the bark of the willow tree. Other drugs are entirely synthetic. Even those drugs that are derived from natural sources are heavily processed in order to purify and concentrate them. This allows drugs to be administered in very precise amounts. Different kinds of degrees and illnesses often require dosages that differ only slightly. A little too much or not enough of a certain drug can have negative effects on the patient. These undesired negative effects are called "side-effects."


The possibility of dangerous and unexpected side-effects from drugs has led many people back to traditional medicine. Herbal treatments seem more natural than modern drugs. Many feel that traditional medicine is more concerned with treating the underlying causes of disease instead of just the symptoms, though the truth of this claim is not yet clear. 


There are, however, disadvantages to herbal treatments. Few herbal treatments have been scientifically studied. Because the active chemicals are not used alone, it is very difficult to determine the proper amount of treatment, since the levels of the chemical in herbs are not constant throughout the plant. Therefore, the risk of under - and overdose is higher than with drugs. 


There are even certain herbs that can cause side-effects, just like a drug. Garlic and ginger are common elements in food that are also taken as herbal treatments, but they can be dangerous for people with diabetes. In general, herbs are most dangerous when they are taken along with common drugs. 


Finally, because production of herbal treatments is seldom regulated, harmful substances can be present in herbal preparations. Herbs grown in polluted soil may contain lead, arsenic, or mercury. They may also be tainted with pesticides. It is for these reasons that herbs should not be treated as the perfect substitute for drugs. Although herbs appear to be quite distinct from modern drugs, it is important to use them with the same sort of care.

  51. Aspirin is an example of drugs which is

     A. pure specific chemicals
B. completely derived form herbs.
     B. chemicals extracted from herbs.
D. half chemicals and half herbs.

  52. The word "integral" in the first paragraph is closest in meaning to
.

     A. harmful
B. important
C. famous
D. controversial

  53. According to the passage, herbs are most dangerous when

     A. not taken under a doctor's supervision.
B. the patient refuses modern medicine.

     C. the dosage is not administered precisely. 
D. taking in combination with drugs.

54. Why does the author mention that drugs are heavily processed?

     A. To show that herbs can not compete with modern medical techniques.

     B. Because many mistakes can occur in this processing.

     C. To illustrate that drugs are not natural.

     D. To point out that many countries can not afford to produce drugs.

55. Harmful substances may be present in herbs because they


A. contain some poisonous elements.
B. grow in polluted soil.


C. may be contaminated with pesticides.
D. B and C are correct
 56. What is the main difference between herbs and drugs according to the passage?

     A. Drugs can cause side-effects, whereas herbs do not.

     B. Drugs are at least partially synthetic, whereas herbs are natural.

     C. Herbs are dangerous when taken in large amounts; drugs are safer.

     D. Herbs can produce a false sense of securities, whereas drugs do not.

57. According to the passage, who should not take ginger or garlic as herbal treatments?

     A. Patients with diabetes
B. Patients with liver damage

     C. Patients taking antidepressants    
D. Patients with heart problems 

58. The author advises using drugs or herbs with the same sort of care because


A. both of them have the same effect.
B. both of them may have side-effects.

C. they may have no effect at all.
D. none of them treat diseases well.

59. Which of the following is closest in meaning to "tainted" in paragraph 6?

     A. accompanied
B. augmented
C. substitute
D. contaminated
60. It can be inferred from the passage that


     A. the drug industry is better regulated than the herb industry.

     B. people who use drugs instead of herbs recover more quickly.

     C. the popularity of herbal treatments will decrease in the future.

     D. the side-effects of drugs are more serious than those of herbs.

IX. Read the passage and mark the A, B, C or D to indicate the correct answer to each of the questions from 61 to 70.



Perhaps it was his own lack of adequate schooling that inspired Horace Mann to work so hard for the important reforms  in education that he accomplished. While he was still a boy, his father and older brother died, and he became responsible for supporting his family. Like most of the children in his town, he attended school only two or three months a year. Later, with the help of several teachers, he was able to study law and became a member of the Massachusetts bar, but he never forgot those early struggles.



While serving in Massachusetts legislature, he signed a historic education bill that set up a state board of education. Without regret, he gave up his successful legal practice and political career to become the first secretary of the board. There he exercised an enormous influence during the critical period of reconstruction that brought into existence the American graded elementary school as substitute for the older distinct school system. Under his leadership, the curriculum was restructured, the school year was increased to a minimum of six months, and mandatory schooling was extended to age sixteen. Other important reforms included the establishment of state normal schools for teacher training, institutes for in-service teacher education, and lyceums for adult education. He was also instrument in improving salaries for teachers and creating school libraries.



Mann’s ideas about school reform were developed and distributed in twelve annual reports to the state of Massachusetts that he wrote during his tenure as secretary of education. Considered quite radical at the time, the Massachusetts reforms later served as a model for the nation. Mann was recognized as the father of public education.       

 61. Which of the following titles would best express the main topic of the passage ?


A. The Father of American Public Education                       B. Philosophy of Education


C. The Massachusetts State Board of Education.                      D. Politics of Educational Institutions

 62. Which of the following describes Horace Mann’s early life ?


A. He attended school six months a year.
   
                        B. He had to study alone, without help.

     C. He supported his family after his father died.                  D. He was an only child.



 63. The word “struggles” in line 5 could best be replaced by


A. valuable experiences

B. happy situations

   C. influential people

D. difficult times
 64. The word “regret” in line 7 could best be replaced by



A. consideration
B. feeling sorry

   C. limitation



D. acceptance

 65. What did Horace Mann advocate ?



A. The state board school system.

   B. The district school system.



C. The substitute school system.

   D. The graded school system.
 66. The word “mandatory” in line 10 is closest in meaning to



A. required
B. equal

   C. excellent


D. basic


 67 How were Mann’s educational reforms distributed ?


A. In twelve annual reports to the state of Massachusetts




B. In reports that he wrote for national distribution.



C. In speeches that he made throughout the country.




D. In books that could be found in school libraries.

 68. The reforms that Horace Mann achieved were



A. not radical for the time.



  B. used only by the state of Massachusetts



C. adopted by the nation as a model.
  D. enforced by the Massachusetts bar.

 69. Among Mann’s school reforms, which of the following is NOT mentioned ?


   
A. Restructuring curriculum
  B. Schools for teacher training



C. Lyceums for adult education

  D. Creating museums

 70. Which of the following statements best represents Mann’s philosophy ?



A. Think in new way
  B. Help others
C. Study very hard
     D. Work hard

VII. Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of  
        the following questions.

   71. I haven’t written this kind of letter before.     

A. This is the first time I have written this kind of letter.  


B. I am not used to write this kind of letter.   


C. Write this kind of letter is not my habit.                


D. Never before I have written this kind of letter

   72. It seems that no one predicted the correct answer.

A. No one seems to predict the answer correctly.


B. It‘s apparent that the answer isn’t correctly predicted.


C. No one seems to have a correct prediction about the answer.


D. No one seems to have predicted the correct answer.

   73. He started computer programming as soon as he left school.



A. No sooner had he started computer programming than he left school.



B. Hardly had he started computer programming when he left school.



C. No sooner had he left school than he started computer programming.



D. After he left school, he had started computer programming.

   74. I was very impressed by her excellent performance.      


A. What greatly impressed me was her excellent performance.
                   

   

B. I found her performance very impressive.                

   

C. Her excellent performance made a great impression on me.                                                                                 

   

D. All are correct.  

   75. Would you mind not smoking in here ?

A. Could you stop to smoke in here ?


B. Would you please stop to smoke in here ?

C. I would rather you didn’t smoke in here.     

D. I want you not to stop smoking in here

  76. I regret going to his party last night.          

A. I didn’t go to his party last night.                     B. I refused to go to his party last night.                 


C. I wish I didn’t go to his party last night.          D. I wish I hadn’t gone to his party last night.    

   77. It doesn’t make any difference if it rain because they will still go.



A. The difference is their going in the rain.


             B. Whether it rains or not, they will still go.



C. But for the rain, they would have gone.


            D. So long as it doesn’t rain, they will go. 

   78. There is no point in asking Tom for help

 

A. Asking Tom for help is no point.          

B. Asking help for Tom is necessary.



C. It’s not worth asking Tom for help.


            D. It’s unable to ask Tom for help.                                         

   79. He is determined to continue working when he is 65. 


A. There is a determination of him to continue working when he is 65.


B. Not until he is 65, he is determined to continue working.


C. He has no intention of stopping working when he is 65.


D. His determination to continue working only when he is 65.

  80. You can stay in the flat for free if you pay the bills. 


A. Provided you pay the bills, you can stay in the flat for free.


B. Without the bills paid, you can stay in the free flat.


C. Unless the flat is free of bills, you cannot stay in it.


D. Whether you pay the bills or stay in the flat, it is free.
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